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Surface Area

area of front = h x w
area of back = h x w
area of front + back = 2(h x w)

area of top = w x l
area of bottom = w x l
area of top + bottom = 2(w x l)

area of right = l x h
area of left = l x h
area of right + left = 2(l x h)

Surface Area = 2(h x w) + 2(w x l) + 2(l x h)
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Calculate the Surface Area (S.A.) for each rectangluar prism by using the formula S.A. = 2(h x w) + 2(w x l) + 2(l x h).

a.

6 m
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3 
m a.

b.

5 cm
5 cm

5 cm b.

c. length = 14 mm

width = 9 mm

height = 20 mm
c.



ANSWER KEY
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Surface Area

area of front = h x w
area of back = h x w
area of front + back = 2(h x w)

area of top = w x l
area of bottom = w x l
area of top + bottom = 2(w x l)

area of right = l x h
area of left = l x h
area of right + left = 2(l x h)

Surface Area = 2(h x w) + 2(w x l) + 2(l x h)
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Calculate the Surface Area (S.A.) for each rectangluar prism by using the formula S.A. = 2(h x w) + 2(w x l) + 2(l x h).

a.

6 m
4 m

3 
m a.

b.

5 cm
5 cm

5 cm b.

c. length = 14 mm

width = 9 mm

height = 20 mm
c.

S.A. = 2(h x w) + 2(w x l) + 2(l x h)
S.A. = 2(3 x 6) + 2(6 x 4) + 2(4 x 3)
S.A. = 36 + 48 + 24
S.A. = 108 m2

S.A. = 108 m2

S.A. = 2(h x w) + 2(w x l) + 2(l x h)
S.A. = 2(5 x 5) + 2(5 x 5) + 2(5 x 5)
S.A. = 50 + 50 + 50
S.A. = 150 cm2

S.A. = 150 cm2

S.A. = 2(h x w) + 2(w x l) + 2(l x h)
S.A. = 2(20 x 9) + 2(9 x 14) + 2(14 x 20)
S.A. = 360 + 252 + 560
S.A. = 1,172 mm2

S.A. = 1,172 mm2


